Sr Questions Answers Choice

A S
1 e A LS S JeS S (53as) 0 i, Bi
S sl

oy S S s N A

s S 2 38 g

s S DA 8 s A S usin S
i S

2 = osphia s 08 S e Ui (S ol S,

Jdss
RENTRY
&S Jladl

S

i soinale]
S U VR UTYEN
< sl

3 500 055 1S 50y A i LS S el () 5 sl s,

4 2 ES Gy) SoR S8 Sl ol S e e gam

K
K Js
RENELEN

s s

Gl )

s S A S s
s S S
RSP S

5 o b o ol (G S gude ) (e el i

6 e G o S e S g e d s SIS

ot s 0 e sy
B 5o e 5L

L o e 3 23
usist sl Al

=
=S 588
=S iy
S Jis

7 S g A oS DS el o,

8 B30 € Al 5t (S Ciiime by o o el s,

= JdS L
S A S 52
A S )Y

9 " S 35 1S "5 e 1S S s mali s S,

sk dea) 2l
el ol

Ja e il LY
GO ek

10 "o caial (S ST oG e S S i S

1978
1975
1925
1927

11 Syl S el o

1928
1926
1925
1927

12 sV S el o,

Jrgr
Js sy
S s
Jiss (48

13 oS e i S S s Ll o

L}l:‘)

Lo« J..‘
S
O3 G
S 35Y

14 LS~ n st S i (S 5 Cagd S e

o O 5 i
o e o2 (S s

W» UO®W > DO@WP» UOWP UOWr DOWP» UOWP U0WP U0®mP» U0W» UOmP U0®mP» UOW» U0U» 00

15 WS e e JIE 5 shagn S oLl 0






